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Question Answer Mark
Number
9a (i) 2

£160 (2)

or

Accept formula in either words or figures
Selling price per unit - variable cost per unit (1)
or

£300 - £140 (1)
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Question Answer Mark
Number
9a (ii) 3
£56 000 (3)
or
280 x £140 = £39 200 (1) Or £39 200 (1)
And
Accept formula in either words or figures.
Total cost = total variable cost + total fixed costs (1) or
TC = TVC + TFC (1) or TC = TVC + FC (1)
or
£39 200 + £16 800 (1)
Question Answer Mark
Number
9b Correctly plot and label TR 0 - 84 000 (1 mark) 3

Correctly plot and label TC from the fixed cost line to the
total cost calculated in question 9a(ii) (OFR) (1 mark)

If both correctly plotted but not labelled then 1 mark
maximum.

Correctly identify BE point (1 mark)

Accept alternative wording in labels, .g. total
revenue, sales, revenue, sales revenue, total costs.
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(a)  Distinguish, with the use of examples, between fixed and variable costs. [4]
« Fixed costs do not vary with outpu.
= Fixed costs only change in the long run.
Examples of fixed costs.
= Variable costs change as output changes.
« Examples of variable costs.

(4x 1~ 2 for lear distinction plus 1 for example of fixed cost and 1 for
example of variable cosis.

(b)  Construct and label a break-aven chart for the year 2010 on the graph
provided and write the break-even output figure In the box
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(2 marks for acourate construction of TR and TC and 2 marks for correct
abelling plus 1 mark for identifying correctly break-even output (apply OFR to
break-even.)

Break even quaniity = 750 (Accept a range of 740-760).

(¢)  Based on the figures given in the passage, calculate by how much

BRK's profit would change in 2011 compared with 2010. ©

Revenue: 1200 x £750 = £300,000 1200 x £772 50 = £927,000

‘Costs FG = £300,000 £320000
VG = £420,000 £456,000 \SC + 23 ¢ 120
TC = £720,000 - £776,000

PROFIT =£180000 770 £151,000

Change in profit = (£29,000) A fallof 16% or 16.1%
OFR rule to apply to final calculation

Method 1 2011 calculation 2
2010 Caloulation 2~ Correct answer 1




